A "7 oI R, A" .7"02

A gratuitous guardian — a7 R

OVERVIEW

The & n3 challenges the view of the 7" that 797 is n"2m nyawn Mo from
the Xn»™12 of X 92 °"»7, which states that by 2™ mwn nyaw there is a
requirement of nNxpna ARTA. There is a n"2m nN¥aw 210 by MW even
though (seemingly) it is a case of 77°1. The four 0> MW are enumerated in
this Xn>>72. First mdon explains the order in which the W are mentioned.
Then Moon explains why the X n3 chose to challenge the 7"n that 777 is
w5 from a XN*92 concerning 72°7 by 2™ W, when he could have asked
from nvawn which discuss 77°7 by o™ mw.

mooin explains the order of the Xn»13; beginning with a 2 MW, who is -
— NANYN NNNN NHHPN NN D92 29N INIYIY NYWON NIN Yo Mo

Exempt from payment in all cases except for negligence, followed by the
borrower who is liable in all cases except where it died because of the

work for which it was borrowed; these two are followed by —
— 909 N¥PNIAY 29N NYPNI 1999w 99w XYM

The paid watchman and the renter who are partially liable (by 7213
77°2X1) and partially exempt (by onx) -

—>an25n5 9705 ONIY XYY AT 9195 119 NI 799
And therefore the Xin of the Xn>72 mentioned the 2> in this order and
did not mention them in the order in which they are written in the 771n.

nvoIn asks:
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And if you will say; and why did not the X723 challenge the view that 797
is M5 from the various n»iw» including the case where one claimed I
deposited wheat in your house and it reached up to the bracket, and the

other says it reached only up to the window -
— (3,30 97 MMAYT 029) NIVYW

! There is a nponn whether a 191 is like a 1"w or a w"w. Here n1901n assumes that he is like a w"w.

? There is logic in this sequence; he first mentions the absolutes (where they are either always exempt [1"w
(which is first in the p109)] or always liable [28w]) followed by the intermediate cases (sometimes exempt
and other times liable) the w"w and 0Ww.

3 In the 77N they are written in the following order; first the n"w (in (71,2 [2*vown] Nw), followed by the
w"w (in 2>-0 ©°p109), the YRV is in 3* P09, and the 727 is last in 7 Poo.

* This is a case of 79’7 because the watchman is returning everything up to the window.
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And the case of the ten vines;® these two cases are mentioned in a 71wn in

NAW Noon -
— 1999W 9N N NYINY IR DT (0w 13,18 97 0p9) INIYNAT 1PN

And also the mwn of ®Xwn P> where the owner claims it was the
borrowed cow that died 012 (for which the "W is 2>1) and the "MW
claims it was the rented cow that died o11%2 (for which the W is Mwo) -

— NN 7970 RN PTPO3 1901
Where all these cases are discussing a deposit where the admission is a

case of 9797 and nevertheless in all these cases there is a »"21 ny1aw 2vn; why did not
the X713 ask from these n11wn, and asked instead from a Xn°>127?!

N1B0IN answers:
7195919 71 591 $IWPRY N15Y RNGIT N W

And one can say; that the X713 would rather challenge the 2o 7217 1"

from all four 2712w," therefore he asks from this Xn™"2 which mentions all four
2 mw; however the N1°1wn above do not discuss all the 22 (only one or two).

SUMMARY

The order of the oW '7 (in the X072 of n1"17) is according to their
liability. The X n3 prefers to ask from all four 2w (even though it is a
Xn>72); rather than ask from some of the 2w (even though it is a mwn).

THINKING IT OVER

There is seemingly an advantage in asking from 11"27 than from the nviwn.
We can establish the nviwn (which are individual cases) in a situation where
there is no 77°77; however "2 is discussing a universal law of D™mw; it is
unreasonable to limit this law to a case where it is not ‘|’7’.‘i.9

> The depositor claimed I gave you ten laden vines to guard, while the watchman argues that he was given
only five laden vines; this too is a case of 72°7, for the grapes of five vines are available.

® The depositor gave the watchman two cows, one as a loan (721Rw), and the other was a rental (;7715%). One
of the cows died (through an onR, for which a >XW is 217 and a 79w is 7w») and it is not known whether it
was the 72X (and the watchman is 21) or whether it was the 7715w (and he is 719). In any event the W
is a n"2m in a 777 situation because he is returning the other (live) cow. The amW swears that nn 770w,

7 The same answer that the X1n3 gives concerning the 1w '7 will also apply to the n»awn; in all the cases,
that which the mw admits to was lost or stolen (77v°w93), so it is not 72°71.

¥ [According to n"27] there can be no 712w 20 by 2™ mw if 72°7 is 1Mv9; however from the n1awn there is a
difficulty for the 72°71 7"n is "wd, only in specific instances. See ‘Thinking it over’.

? See m"nx # 77.
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